

TABULATION OF BIDS CITY OF CORPUS CHRISTI, TEXAS - CONTRACTS AND PROCUREMENT DEPT.

BID DAT	E: Friday, October 2, 2020										
S. :	STAPLES STREET - BALDWIN BLVD. TO KOSTO	ORYZ F	RD.	BAY	LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE :	SERVICES INC	REYTEC CONSTR RESOURCES	
	PROJ. NO. 18041A			401 CORN P	RODUCTS RD	6229 LEOPARD ST		1110 NAVASO	OTA RIDGE RD	1901 HOLLISTER	
	RFB #3213			CC TX	78409	CC, TX 78409		NAVASOTA	A, TX 77868	HOUSTON, TX 77080	
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
112.00	BASE BID 2 - HMAC	Oitii	<u> </u>	OWNTK	711100111	OMITTA	AMOON	OMITIN	711100111	OHITTK	7.1100111
PART A -	GENERAL										
A1	Mobilization (Max 5% Part A)	LS	1	\$12,800.00	\$12,800.00	\$90,750.00	\$90,750.00	\$42,033.25	\$42,033.25		\$0.00
A2	Bonds and Insurance	AL	1	\$88,000.00	\$88,000.00	\$211,750.00	\$211,750.00	\$178,635.00	\$178,635.00		\$0.00
A3	Ozone Action Day	EA	6	\$1.25	\$7.50	\$181.50	\$1,089.00	\$500.00	\$3,000.00		\$0.00
A4	Clear Right-of-Way	AC	10	\$24,000.00	\$228,000.00	\$6,050.00	\$57,475.00	\$6,320.00	\$60,040.00		\$0.00
A5	Survey Monument	EA	2	\$260.00	\$520.00	\$1,028.50	\$2,057.00	\$1,000.00	\$2,000.00		\$0.00
A6	Traffic Control Plan and Preparation	EA	1	\$30,800.00	\$30,800.00	\$30,250.00	\$30,250.00	\$16,000.00	\$16,000.00		\$0.00
A7	Traffic Control Mobilization/Adjustments	EA	1	\$16,700.00	\$16,700.00	\$16,373.72	\$16,373.72	\$10,000.00	\$10,000.00		\$0.00
	Traffic Control Items (Barrels, Signs, Temp.										
A8	Pavement Markings etc.)	МО	28	\$5,400.00	\$151,200.00	\$3,764.31	\$105,400.68	\$3,000.00	\$84,000.00		\$0.00
	Traffic Control Low Profile Concrete										
A9	Barriers (20 ft. Barrier)	EA	300	\$38.00	\$11,400.00	\$756.25	\$226,875.00	\$1,232.00	\$369,600.00		\$0.00
A10	Traffic Control Message Boards	EA	6	\$20,000.00	\$120,000.00	\$21,284.66	\$127,707.96	\$17,875.00	\$107,250.00		\$0.00
A11	Traffic Control Temporary Pavement	SY	30,000	\$1.53	\$45,900.00	\$16.94	\$508,200.00	\$10.00	\$300,000.00		\$0.00
	Temporary Traffic Signal Design and										
A12	Preparation	EA	1	\$22,200.00	\$22,200.00	\$11,313.50	\$11,313.50	\$19,800.00	\$19,800.00		\$0.00
A13	Temporary Traffic Signal	EA	3	\$39,500.00	\$118,500.00	\$23,958.00	\$71,874.00	\$35,200.00	\$105,600.00		\$0.00
A14	Block Sodding	SY	10,234	\$5.60	\$57,310.40	\$5.75	\$58,845.50	\$5.70	\$58,333.80		\$0.00
A15	Stormwater Pollution Prevention Plan	LS	1	\$1,200.00	\$1,200.00	\$18,150.00	\$18,150.00	\$5,500.00	\$5,500.00		\$0.00
	Silt Fence for Stormwater Pollution										
A16	Prevention Plan	LF	4,698	\$2.40	\$11,275.20	\$4.84	\$22,738.32	\$2.00	\$9,396.00		\$0.00
	Stormwater Structure Protection										
	(Proposed and Existing)(Inlets, Manholes,										
A17	Junction Boxes, Risers)	EA	162	\$130.00	\$21,060.00	\$163.35	\$26,462.70	\$115.00	\$18,630.00		\$0.00
	Allowance for Unanticipated										
A18	Environmental Issues	AL	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00		\$0.00
	SUBTOTAL PART A - GENERAL				\$961,873.10		\$1,612,312.38		\$1,414,818.05		NO BID
PART B -	STREET IMPROVEMENTS										
B1	Mobilization (Max 5% Part B)	LS	1	\$11,600.00	\$11,600.00	\$211,750.00	\$211,750.00	\$110,075.00	\$110,075.00		\$0.00
B2	2" Type D HMAC (Final Surface)	SY	30,856	\$11.75	\$362,558.00	\$27.23	\$840,208.88	\$16.50	\$509,124.00		\$0.00
В3	4" Type B HMAC (Initial Surface)	SY	30,856	\$19.00	\$586,264.00	\$36.30	\$1,120,072.80	\$27.50	\$848,540.00		\$0.00
B4	Prime Coat, MC-30 (0.15 Gal/SY)	GAL	4,629	\$4.20	\$19,441.80	\$5.75	\$26,616.75	\$5.50	\$25,459.50		\$0.00
B5	11" Flex Base Material Type A Grade 1-2	SY	31,369	\$23.00	\$721,487.00	\$30.25	\$948,912.25	\$28.00	\$878,332.00		\$0.00
В6	12" Compacted Subgrade	SY	31,369	\$2.70	\$84,696.30	\$3.63	\$113,869.47	\$2.50	\$78,422.50		\$0.00
B7	TX-5 Geogrid (1' beyond B.C.)	SY	34,794	\$4.00	\$139,176.00	\$4.84	\$168,402.96	\$1.75	\$60,889.50		\$0.00
B8	Street Excavation (Removal and Disposal)	SY	34,794	\$11.25	\$391,432.50	\$10.08	\$350,723.52	\$8.85	\$307,926.90		\$0.00
	Reflective Pavement Markers (Type		i i	, -	. ,	,	. ,	,	. ,		
В9	1)(White)(4")(Broken)(090 MIL)	LF	1,991	\$1.10	\$2,190.10	\$1.51	\$3,006.41	\$1.00	\$1,991.00		\$0.00

S.	STAPLES STREET - BALDWIN BLVD. TO KOSTO	ORYZ R	RD.	BAY	/ LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE S	SERVICES INC	REYTEC CON	ISTR RESOURCES
	PROJ. NO. 18041A			401 CORN P	RODUCTS RD	6229 LE	OPARD ST	1110 NAVASO	OTA RIDGE RD	1901	HOLLISTER
	RFB #3213			ССТХ	(78409	CC T	X 78409	NAVASOTA	TX 77868	HOUSTO	ON, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
1	Reflective Pavement Markers (Type		ζ								
B10	1)(White)(4")(Solid)(090 MIL)	LF	378	\$1.10	\$415.80	\$1.51	\$570.78	\$1.00	\$378.00		\$0.00
	Reflective Pavement Markers (Type			,	,	, -	,	,	,		,
B11	1)(Yellow)(4")(Broken)(090 MIL)	LF	1,480	\$1.10	\$1,628.00	\$1.51	\$2,234.80	\$1.00	\$1,480.00		\$0.00
	Reflective Pavement Markers (Type		,	·		·	. ,		. ,		
B12	1)(Yellow)(4")(Solid)(090 MIL)	LF	8,558	\$1.10	\$9,413.80	\$1.51	\$12,922.58	\$1.00	\$8,558.00		\$0.00
	Reflective Pavement Markers (Type		,	·		·	. ,		. ,		
B13	1)(Yellow)(8")(Solid)(090 MIL)	LF	0	\$3.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
	Reflective Pavement Markers (Type			,		·	·		·		
B14	1)(White)(8")(Solid)(090 MIL)	LF	484	\$2.20	\$1,064.80	\$3.03	\$1,466.52	\$1.98	\$958.32		\$0.00
	Reflective Pavement Markers (Type					•			·		
B15	1)(White)(12")(Solid Gore)(090 MIL)	LF	128	\$3.30	\$422.40	\$4.54	\$581.12	\$2.97	\$380.16		\$0.00
	Reflective Pavement Marker Symbol (Type				·	•	·		·		·
	C Heat Applied)(White)(Thru-Turn-Arrow										
	or Word)(125 MIL)(Preformed										
B16	Thermoplastic)	EA	28	\$220.00	\$6,160.00	\$242.00	\$6,776.00	\$192.50	\$5,390.00		\$0.00
B17	Raised Pavement Markers (Type I-C)	EA	114	\$6.20	\$706.80	\$7.26	\$827.64	\$5.50	\$627.00		\$0.00
B18	Raised Pavement Markers (Type II-A-A)	EA	408	\$6.20	\$2,529.60	\$7.26	\$2,962.08	\$5.50	\$2,244.00		\$0.00
B19	Raised Pavement Markers (Type II-B-B)	EA	42	\$6.20	\$260.40	\$7.26	\$304.92	\$5.50	\$231.00		\$0.00
B20	New Standard 6" Concrete Driveway	SF	10,395	\$14.50	\$150,727.50	\$11.19	\$116,320.05	\$6.72	\$69,854.40		\$0.00
B21	Demolition of Existing Concrete Driveway	SF	9,705	\$7.25	\$70,361.25	\$5.04	\$48,913.20	\$1.00	\$9,705.00		\$0.00
B22	Pavement Repair (Type 1 and 2)	SY	935	\$160.00	\$149,600.00	\$121.00	\$113,135.00	\$97.00	\$90,695.00		\$0.00
B23	Pavement Repair (Type 3)	SY	262	\$96.00	\$25,152.00	\$145.20	\$38,042.40	\$300.00	\$78,600.00		\$0.00
B24	New Regulatory Signage	EA	91	\$290.00	\$26,390.00	\$284.35	\$25,875.85	\$258.00	\$23,478.00		\$0.00
	New Sign Support Assembly										
B25	(Pole)(Triangular Slipbase System)	EA	72	\$350.00	\$25,200.00	\$344.85	\$24,829.20	\$313.50	\$22,572.00		\$0.00
	Removal of Existing Signage and Support										
B26	Assembly (Pole Foundation)	EA	48	\$74.00	\$3,552.00	\$72.60	\$3,484.80	\$200.00	\$9,600.00		\$0.00
	Adjustment of Existing Manhole										
B27	Ring\Cover	EA	6	\$1,600.00	\$9,600.00	\$1,512.50	\$9,075.00	\$750.00	\$4,500.00		\$0.00
	Unanticipated Tree Removal and										
B28	Replacement	EA	10	\$580.00	\$5,800.00	\$1,149.50	\$11,495.00	\$5,000.00	\$50,000.00		\$0.00
	Unanticipated Fence Removal and										
B29	Replacement	LF	100	\$72.00	\$7,200.00	\$54.45	\$5,445.00	\$60.00	\$6,000.00		\$0.00
	Allowance for Unanticipated Street										
B30	Improvements	AL	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00		\$0.00
	IBTOTAL PART B - STREET IMPROVEMENTS				\$2,865,030.05		\$4,258,824.98		\$3,256,011.28		NO BID
_	ADA IMPROVEMENTS										
C1	Mobilization (Max 5% Part C)	LS	1	\$5,800.00	\$5,800.00	\$51,425.00	\$51,425.00	\$12,070.00	\$12,070.00		\$0.00
C2	Concrete Pedestrian Sidewalk	SF	41,490	\$7.60	\$315,324.00	\$7.16	\$297,068.40	\$6.00	\$248,940.00		\$0.00
C3	Concrete Curb Ramp	SF	4,944	\$18.50	\$91,464.00	\$29.92	\$147,924.48	\$8.50	\$42,024.00		\$0.00
	Sidewalk and Concrete Curb Ramp		05.465	Å=	4405 546 55	40.55	450 745 55	A	407.555.55		4
C4	Demolition	SF	25,100	\$5.40	\$135,540.00	\$2.42	\$60,742.00	\$1.50	\$37,650.00		\$0.00

S.	STAPLES STREET - BALDWIN BLVD. TO KOSTO	ORYZ R	D.	BA	/ LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE	SERVICES INC	REYTEC CON	ISTR RESOURCES
	PROJ. NO. 18041A			401 CORN P	RODUCTS RD	6229 LE	OPARD ST	1110 NAVASO	TA RIDGE RD	1901 HOLLISTER	
	RFB #3213			CC, T	(78409	CC, T	X 78409	NAVASOTA	, TX 77868	HOUSTO	N, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
CE	Reflective Pavement Markers for Crosswalk (Type C Heat Applied) (White)	15	1 276	¢17.25	¢22.011.00	¢10.26	¢24.702.26	¢4.6F	ĆF 022 40		¢0.00
C5	(24")(125 MIL)(Preformed Thermoplastic)	LF	1,276	\$17.25	\$22,011.00	\$19.36	\$24,703.36	\$4.65	\$5,933.40		\$0.00
C6	Reflective Pavement Markers for Stop Bar (Type C Heat Applied)(White) (24")(125 MIL)(Preformed Thermoplastic)	LF	430	\$17.25	\$7,417.50	\$19.36	\$8,324.80	\$4.85	\$2,085.50		\$0.00
C7	New Parking Curb Stop	EA	3	\$460.00	\$1,380.00	\$3,267.00	\$9,801.00	\$500.00	\$1,500.00		\$0.00
C8	Unanticipated Sidewalk Retaining Curb	LF	100	\$46.00	\$4,600.00	\$52.20	\$5,220.00	\$25.00	\$2,500.00		\$0.00
C9	Unanticipated Sidewalk Drain	LF	25	\$390.00	\$9,750.00	\$368.34	\$9,208.50	\$170.00	\$4,250.00		\$0.00
	SUBTOTAL PART C - ADA IMPROVEMENTS				\$593,286.50		\$614,417.54		\$356,952.90		NO BID
PART D	- SIGNALIZATION IMPROVEMENTS										
D1	Mobilization (Max 5% Part D)	LS	1	\$40,700.00	\$40,700.00	\$51,425.00	\$51,425.00	\$36,550.00	\$36,550.00		\$0.00
D2	New Baldwin Blvd. Signalization	LS	1	\$271,200.00	\$271,200.00	\$344,050.19	\$344,050.19	\$242,000.00	\$242,000.00		\$0.00
D3	New Louisiana Ave. Signalization	LS	1	\$271,200.00	\$271,200.00	\$311,480.62	\$311,480.62	\$242,000.00	\$242,000.00		\$0.00
D4	New Annapolis Dr. Signalization	LS	1	\$271,200.00	\$271,200.00	\$326,277.71	\$326,277.71	\$242,000.00	\$242,000.00		\$0.00
	Allowance for Unanticipated Signalization										
D5	Improvements	AL	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$0.00
SUE	STOTAL PART D - SIGNALIZATION IMPROVE				\$859,300.00		\$1,038,233.52		\$767,550.00		NO BID
PART E	- RTA IMPROVEMENTS										
E1	Mobilization (Max 5% Part E)	LS	1	\$5,800.00	\$5,800.00	\$51,425.00	\$51,425.00	\$2,598.00	\$2,598.00		\$0.00
E2	8" Concrete Bus Pad	SF	6,005	\$17.00	\$102,085.00	\$17.55	\$105,387.75	\$8.88	\$53,324.40		\$0.00
E3	Concrete Shelter Pad	SF	2,100	\$17.25	\$36,225.00	\$14.52	\$30,492.00	\$6.72	\$14,112.00		\$0.00
E4	Demolition of Existing Concrete Shelter Pad	SF	3,068	\$5.50	\$16,874.00	\$24.20	\$74,245.60	\$1.50	\$4,602.00		\$0.00
E5	Demolition of Existing Concrete Bus Pad	SF	1,168	\$9.50	\$11,096.00	\$48.40	\$56,531.20	\$1.50	\$1,752.00		\$0.00
	Shelter Pad Striping (Yellow)(Solid)(Full										
E6	Width of Curb)	LF	210	\$3.70	\$777.00	\$7.87	\$1,652.70	\$2.00	\$420.00		\$0.00
	SUBTOTAL PART E - RTA IMPROVEMENTS				\$172,857.00		\$319,734.25		\$76,808.40		NO BID
	I.T. IMPROVEMENTS			4	4	4	4	40.00-0-	40.00=.00		40.00
F1	Mobilization (Max 5% Part F)	LS	1	\$4,100.00	\$4,100.00	\$4,781.92	\$4,781.92	\$3,037.65	\$3,037.65		\$0.00
F2	2" PVC (Sch.40) Electrical Conduit (IT/MIS) with mule tape	LF	4,730	\$13.00	\$61,490.00	\$15.73	\$74,402.90	\$13.00	\$61,490.00		\$0.00
F3	New Basis Polymer Concrete Pull Box 24"X36"X18" w/ 3" Gravel (IT/MIS)	EA	9	\$2,300.00	\$20,700.00	\$2,359.50	\$21,235.50	\$2,700.00	\$24,300.00		\$0.00
F4	Allowance for Unanticipated I.T. Improvements	AL	1	\$1,000.00		\$1,000.00	\$1,000.00	\$1,000.00			\$0.00
	SUBTOTAL PART F - I.T. IMPROVEMENTS				\$87,290.00		\$101,420.32		\$89,827.65		NO BID
	- GAS IMPROVEMENTS										
G1	Mobilization (Max 5% Part G)	LS	1	\$2,900.00	· · · · · · · · · · · · · · · · · · ·	\$18,150.00	\$18,150.00	\$3,680.79	\$3,680.79		\$0.00
G2	Trenching for Gas Line	LF	6,718	\$3.50	\$23,513.00	\$24.20	\$162,575.60	\$9.85	\$66,172.30		\$0.00
G3	Backfill and Compaction for Gas Line Trench	LF	6,718	\$5.50	\$36,949.00	\$38.72	\$260,120.96	\$5.06	\$33,993.08		\$0.00

S. :	STAPLES STREET - BALDWIN BLVD. TO KOSTO	ORYZ R	ID.	BAY	'LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE S	SERVICES INC	REYTEC CON	ISTR RESOURCES
	PROJ. NO. 18041A			401 CORN P	RODUCTS RD	6229 LE	OPARD ST	1110 NAVASOTA RIDGE RD		1901 HOLLISTER	
	RFB #3213			CC. TX	78409	CC. T	X 78409	NAVASOTA	. TX 77868	HOUSTO	N, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
	Allowance for Unanticipated Gas		٠			2					
G4	Improvements	AL	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$0.00
	SUBTOTAL PART G - GAS IMPROVEMENTS				\$68,362.00	. ,	\$445,846.56	. ,	\$108,846.17		NO BID
	- STORMWATER IMPROVEMENTS										
H1	Mobilization (Max 5% Part H)	LS	1	\$41,000.00	\$41,000.00	\$302,500.00	\$302,500.00	\$137,935.00	\$137,935.00		\$0.00
- ''-	The small and the same of the		-	ψ 11,000.00	\$ 11,000.00	7302,300.00	\$302,300.00	ψ137,333.00	\$137,333.00		φ0.00
H2	Standard 5 Foot Curb Inlet (Width Varies)	EA	50	\$8,100.00	\$405,000.00	\$7,623.00	\$381,150.00	\$6,600.00	\$330,000.00		\$0.00
	Modified 5 Foot Curb Inlet with Bottom or		30	ψο,100.00	ψ .03)000.00	ψ1,020.00	4001)100.00	φοροσοίου	4000,000.00		φσισσ
Н3	Front Extension (Width Varies)	EA	4	\$10,000.00	\$40,000.00	\$7,441.50	\$29,766.00	\$6,880.00	\$27,520.00		\$0.00
- 113	Trone Extension (vinam varies)		·	ψ10,000.00	\$ 10,000.00	\$7,112.50	<i>\$23,700.00</i>	Ç0,000.00	<i>\$27,320.00</i>		φ0.00
H4	Standard 6 Foot Curb Inlet (Width Varies)	EA	2	\$9,900.00	\$19,800.00	\$8,167.50	\$16,335.00	\$7,620.00	\$15,240.00		\$0.00
H5	Curb Inlet Extension (5' Throat Opening)	EA	5	\$3,000.00	\$15,000.00	\$11,555.50	\$57,777.50	\$4,500.00	\$22,500.00		\$0.00
H6	Dual Grate Inlet	EA	1	\$6,000.00	\$6,000.00	\$5,989.50	\$5,989.50	\$6,010.00	\$6,010.00		\$0.00
-110	6" Standard Curb and Gutter (Including		-	\$0,000.00	\$0,000.00	43,363.36	ψ3,363.36	Ç0,010.00	Ç0,010.00		φ0.00
	subgrade prep, limestone base and backfill										
H7	1' beyond B.C.)	LF	10,240	\$39.00	\$399,360.00	\$27.52	\$281,804.80	\$5.00	\$51,200.00		\$0.00
H8	Valley Gutter (5' Wide)	LF	84	\$190.00	\$15,960.00	\$85.37	\$7,171.08	\$90.00	\$7,560.00		\$0.00
H9	18" Reinforced Concrete Pipe (Class III)	LF	1,733	\$110.00	\$190,630.00	\$132.45	\$229,535.85	\$79.00	\$136,907.00		\$0.00
H10	24" Reinforced Concrete Pipe (Class III)	LF	774	\$120.00	\$92,880.00	\$188.16	\$145,635.84	\$86.00	\$66,564.00		\$0.00
H11	30" Reinforced Concrete Pipe (Class III)	LF	315	\$160.00	\$50,400.00	\$183.44	\$57,783.60	\$92.00	\$28,980.00		\$0.00
H12	36" Reinforced Concrete Pipe (Class III)	LF	53	\$240.00	\$12,720.00	\$221.07	\$11,716.71	\$133.00	\$7,049.00		\$0.00
H13	42" Reinforced Concrete Pipe (Class III)	LF	113	\$250.00	\$28,250.00	\$256.90	\$29,029.70	\$162.00	\$18,306.00		\$0.00
H14	48" Reinforced Concrete Pipe (Class III)	LF	534	\$270.00	\$144,180.00	\$292.27	\$156,072.18	\$188.00	\$100,392.00		\$0.00
H15	5'X5' Reinforced Concrete Box (Class III)	LF	1,037	\$470.00	\$487,390.00	\$452.19	\$468,921.03	\$489.00	\$507,093.00		\$0.00
H16	6'X6' Reinforced Concrete Box (Class III)	LF	1,517	\$690.00	\$1,046,730.00	\$580.30	\$880,315.10	\$540.00	\$819,180.00		\$0.00
H17	8'X6' Reinforced Concrete Box (Class III)	LF	832	\$960.00	\$798,720.00	\$802.27	\$667,488.64	\$711.00	\$591,552.00		\$0.00
H18	8'X8' Reinforced Concrete Box (Class III)	LF	472	\$1,100.00	\$519,200.00	\$828.75	\$391,170.00	\$811.00	\$382,792.00		\$0.00
	Type 'A' Concrete Storm Water Manhole		.,_	ψ1,100.00	\$313)200.00	ψο20.75	4001)170100	ψ011.00	4302),32.00		ψ0.00
H19	(Less than 8' Depth)	EA	1	\$7,000.00	\$7,000.00	\$4,517.33	\$4,517.33	\$4,400.00	\$4,400.00		\$0.00
1113	Type 'A' Concrete Storm Water Manhole		-	ψ,,οσο.σο	ψ7,000.00	Ų 1,317.33	ŷ 1,317.33	ŷ 1, 100.00	ŷ 1, 100.00		φ0.00
H20	(8' to 12' Depth)	EA	3	\$8,500.00	\$25,500.00	\$5,626.50	\$16,879.50	\$7,010.00	\$21,030.00		\$0.00
1120	Type 'A' Concrete Storm Water Manhole	LA	3	\$0,500.00	\$23,300.00	\$3,020.30	\$10,073.30	\$7,010.00	721,030.00		φ0.00
H21	(12' to 16' Depth)	EA	1	\$11,200.00	\$11,200.00	\$11,071.50	\$11,071.50	\$7,200.00	\$7,200.00		\$0.00
	Type 'C' Concrete Storm Water Manhole		_	\$11,200.00	\$11)200.00	ψ12)07 1.00	ψ11)071100	ψ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	ψ.,,200.00		φσ.σσ
H22	(8' to 12' Depth)	EA	3	\$14,600.00	\$43,800.00	\$19,965.00	\$59,895.00	\$12,300.00	\$36,900.00		\$0.00
- 1122	Type 'D' Concrete Storm Water Manhole		3	φ11,000.00	\$ 13,000.00	ψ13,303.00	\$33,633.66	Ģ12,300.00	\$30,300.00		φ0.00
H23	(8' to 12' Depth)	EA	2	\$12,400.00	\$24,800.00	\$33,033.00	\$66,066.00	\$10,215.00	\$20,430.00		\$0.00
1123	Type 'D' Concrete Storm Water Manhole		-	Ţ12, 100.00	Ç2 1,000.00	733,033.00	400,000.00	Ģ10,213.00	Ç20, 130.00		φ0.00
H24	(12' to 16' Depth)	EA	2	\$18,300.00	\$36,600.00	\$38,478.00	\$76,956.00	\$14,960.00	\$29,920.00		\$0.00
· · · · ·	Type 'D' Concrete Storm Water Manhole		_	\$25,553.00	+55,555.00	<i>\$55,</i> 5.00	<i>ϕ, 0,555.</i> 00	ψ± .,5 03.00	+23,323.00		+ 3.00
H25	(16' to 20' Depth)	EA	3	\$20,000.00	\$60,000.00	\$42,108.00	\$126,324.00	\$16,920.00	\$50,760.00		\$0.00
1,123	Concrete Storm Water Manhole Riser			720,000.00	200,000.00	y 12,100.00	Ç120,324.00	Q10,520.00	\$30,700.00		70.00
H26	(Less than 8' Depth)	EA	1	\$7,600.00	\$7,600.00	\$11,777.33	\$11,777.33	\$4,700.00	\$4,700.00		\$0.00
1120	Concrete Storm Water Manhole Riser (8'		-	77,000.00	\$7,000.00	Ψ11,777.33	711,777.55	γ -1 ,7 00.00	γ -1 ,700.00		70.00
H27	to 12' Depth)	EA	5	\$8,200.00	\$41,000.00	\$13,189.00	\$65,945.00	\$5,450.00	\$27,250.00		\$0.00
114/	to 12 Deptilij		ر	70,200.00	γ -1 ,000.00	713,103.00	₹05,5 4 5.00	,-,-,υ.00	727,230.00		0.00

S. S	STAPLES STREET - BALDWIN BLVD. TO KOSTO	ORYZ R	D.	BAY	'LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE S	SERVICES INC	REYTEC CON	ISTR RESOURCES
	PROJ. NO. 18041A			401 CORN PRODUCTS RD			6229 LEOPARD ST		OTA RIDGE RD	1901 HOLLISTER	
	RFB #3213			CC TX	78409	ССТ	X 78409	NAVASOTA	TX 77868	HOUSTO	ON, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
	Concrete Storm Water Manhole Riser (12'	OIIII	QII	OTTITION	711100111	OHITTH	711100111	OIIII I II	711100111	OIIII I II	711100111
H28	to 16' Depth)	EA	6	\$11,200.00	\$67,200.00	\$18,634.00	\$111,804.00	\$6,750.00	\$40,500.00		\$0.00
20	Concrete Storm Water Manhole Riser (16'			ψ11)200.00	ψον/200.00	ψ20,00 H00	ψ111/00 ···00	ψο,, σοισο	ψ 10/300100		φοιοσ
H29	to 20' Depth)	EA	1	\$12,000.00	\$12,000.00	\$22,264.00	\$22,264.00	\$6,835.00	\$6,835.00		\$0.00
	Concrete Storm Water Junction Box #1			+==,	+==/	7-2,20 1100	+== /== · · · · ·	+ = / = = = = =	+ = / = = = = =		70.00
H30	(~24' Depth)	EA	1	\$37,500.00	\$37,500.00	\$125,235.00	\$125,235.00	\$44,200.00	\$44,200.00		\$0.00
	Concrete Storm Water Junction Box #2			701,000.00	401/000100	+ ===,=====	+===	+ + + + + + + + + + + + + + + + + + + +	4 * * * * * * * * * * * * * * * * * * *		70.00
H31	(~22' Depth)	EA	1	\$35,900.00	\$35,900.00	\$105,875.00	\$105,875.00	\$33,320.00	\$33,320.00		\$0.00
	Concrete Storm Water Junction Box #3		_	400,000.00	400/300:00	\$200,070.00	\$203)073.00	\$55,525.65	\$55,525.55		φοιοσ
H32	(~21' Depth)	EA	1	\$34,000.00	\$34,000.00	\$90,145.00	\$90,145.00	\$31,910.00	\$31,910.00		\$0.00
	Concrete Storm Water Junction Box #4			ψο 1,000100	φο ιγουσίου	ψ50,1.5.00	ψ30)1 i3i00	ψ01/010.00	ψ 01 /310.00		φοιοσ
H33	(~20' Depth)	EA	1	\$35,400.00	\$35,400.00	\$88,935.00	\$88,935.00	\$32,700.00	\$32,700.00		\$0.00
	Concrete Storm Water Junction Box #5		_	φου, ισσίου	400) 100.00	400,000.00	\$00,500.00	ψου, σοισο	402), 66.66		φοιοσ
H34	(~12' Depth)	EA	1	\$31,000.00	\$31,000.00	\$68,486.00	\$68,486.00	\$28,000.00	\$28,000.00		\$0.00
1131	Concrete Storm Water Junction Box #6		-	ψ31,000.00	731,000.00	Ç00, 100.00	Ç00, 100.00	\$20,000.00	\$20,000.00		φο.σσ
H35	(~11.5' Depth)	EA	1	\$27,000.00	\$27,000.00	\$66,066.00	\$66,066.00	\$26,165.00	\$26,165.00		\$0.00
H36	Trench Safety for Stormwater Lines	LF	7,380	\$13.75	\$101,475.00	\$7.26	\$53,578.80	\$1.00	\$7,380.00		\$0.00
	Trench Safety for Stormwater Structures		1,000	7=00	Ţ=0=) · · · · · · ·	71.20	722/21212	7 - 1 - 1	41/222122		70.00
	(Including Inlets, Manholes, Risers,										
H37	Junction Boxes)	EA	37	\$1,500.00	\$55,500.00	\$1,512.50	\$55,962.50	\$75.00	\$2,775.00		\$0.00
H38	Reinforced Concrete Box Repair	SF	64	\$110.00	\$7,040.00	\$175.45	\$11,228.80	\$25.00	\$1,600.00		\$0.00
H39	Reinforced Concrete Pipe Plug	EA	1	\$1,600.00	\$1,600.00	\$1,623.82	\$1,623.82	\$750.00	\$750.00		\$0.00
				+ =,000.00	+=/	7-,0-0.0-	+=/===:==	*********	7100100		70.00
H40	Curb and Gutter Demolition and Removal	LF	9,735	\$7.90	\$76,906.50	\$6.05	\$58,896.75	\$1.70	\$16,549.50		\$0.00
H41	Existing Curb Inlet Demolition	EA	46	\$1,000.00	\$46,000.00	\$1,089.00	\$50,094.00	\$575.00	\$26,450.00		\$0.00
H42	Existing Dual Grate Inlet Demolition	EA	1	\$1,400.00	\$1,400.00	\$1,815.00	\$1,815.00	\$780.00	\$780.00		\$0.00
				+ =,	+=/	7-,0-0.00	+ =/===:::	*********	710000		70.00
H43	Reinforced Concrete Pipe to be removed	LF	10,880	\$11.00	\$119,680.00	\$47.06	\$512,012.80	\$18.00	\$195,840.00		\$0.00
H44	Reinforced Concrete Box to be removed	LF	13	\$260.00	\$3,380.00	\$84.70	\$1,101.10	\$100.00	\$1,300.00		\$0.00
	Existing Concrete Manhole or Junction Box			7=33:33	+=/=====	70	+ =/=====	7	<i>+=/======</i>		70.00
H45	to be removed	EA	25	\$1,000.00	\$25,000.00	\$3,630.00	\$90,750.00	\$575.00	\$14,375.00		\$0.00
	Well Pointing for Stormwater			+ =,000.00	+==/====	70,000.00	400/100100	7070100	7=1,01010		70.00
H46	improvement excavations	LF	1,304	\$62.00	\$80,848.00	\$102.85	\$134,116.40	\$40.00	\$52,160.00		\$0.00
	Allowance for Unanticipated Stormwater		,	,	1 /	,	, , , , ,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,
H47	Improvements	AL	1	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00		\$0.00
SU	BTOTAL PART H - STORMWATER IMPROVE				\$5,429,549.50		\$6,269,584.16	. ,	\$4,082,959.50		NO BID
	WASTEWATER IMPROVEMENTS				, . , . ,		, ,		. , ,		-
I1	Mobilization (Max 5% Part I)	LS	1	\$17,300.00	\$17,300.00	\$84,700.00	\$84,700.00	\$53,914.63	\$53,914.63		\$0.00
12	Pipe Burst Existing 8" VCP w/ 10" HDPE	LF	222	\$77.00	\$17,094.00	\$110.11	\$24,444.42	\$75.00	\$16,650.00		\$0.00
13	Pipe Burst Existing 10" VCP w/ 12" HDPE	LF	209	\$90.00	\$18,810.00	\$124.63	\$26,047.67	\$110.00	\$22,990.00		\$0.00
14	Pipe Burst Existing 10" VCP w/ 18" HDPE	LF	1,265	\$110.00	\$139,150.00	\$233.53	\$295,415.45	\$207.00	\$261,855.00		\$0.00
15	Pipe Burst Existing 12" VCP w/ 18" HDPE	LF	3,414	\$110.00	\$375,540.00	\$233.53	\$797,271.42	\$207.00	\$706,698.00		\$0.00
16	Pipe Burst Existing 18" VCP w/ 24" HDPE	LF	353	\$150.00	\$52,950.00	\$481.58	\$169,997.74	\$375.00	\$132,375.00		\$0.00
	Rehabilitate Existing Manhole with			Ţ	, : =,::::0	, 122.30	,,	75.5.00	, :=,:::00		72.00
II .	Fiberglass Liner	EA	19	\$10,400.00	\$197,600.00	\$8,494.20	\$161,389.80	\$2,990.00	\$56,810.00		\$0.00

S. :	STAPLES STREET - BALDWIN BLVD. TO KOSTO	DRYZ R	ID.	BA	/ LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE	SERVICES INC	REYTEC CON	ISTR RESOURCES
	PROJ. NO. 18041A		401 CORN P	RODUCTS RD	6229 LE	OPARD ST	1110 NAVASO	OTA RIDGE RD	1901	HOLLISTER	
	RFB #3213			CC. TX	(78409	CC. T	X 78409	NAVASOTA	A, TX 77868	HOUSTO	ON, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
	Manhole Drop Connection (6 ft. Minimum										
18	up to 12 ft. Maximum)	EA	2	\$4,000.00	\$8,000.00	\$4,319.70	\$8,639.40	\$4,820.00	\$9,640.00		\$0.00
	5' Diameter Fiberglass Manhole (Less than										
19	8' Depth)	EA	2	\$18,000.00	\$36,000.00	\$8,445.80	\$16,891.60	\$12,000.00	\$24,000.00		\$0.00
110	Existing Manhole to be removed	EA	2	\$1,500.00	\$3,000.00	\$2,420.00	\$4,840.00	\$1,500.00	\$3,000.00		\$0.00
	_										
111	Trench Safety for Wastewater Manholes	EA	2	\$870.00	\$1,740.00	\$1,331.00	\$2,662.00	\$700.00	\$1,400.00		\$0.00
l12	Wastewater By-Passing	LS	1	\$123,300.00	\$123,300.00	\$121,000.00	\$121,000.00	\$200,000.00			\$0.00
	Unanticipated Wastewater Service										
	Reconnection (includes new service line										
113	and connection)	EA	5	\$5,400.00	\$27,000.00	\$3,083.08	\$15,415.40	\$15,000.00	\$75,000.00		\$0.00
	Allowance for Unanticipated Wastewater										
114	Improvements	AL	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00		\$0.00
SI	UBTOTAL PART I - WASTEWATER IMPROVE				\$1,047,484.00		\$1,758,714.90		\$1,594,332.63		NO BID
PART J -	WATER IMPROVEMENTS										
J1	Mobilization (Max 5% Part J)	LS	1	\$5,800.00	\$5,800.00	\$51,425.00	\$51,425.00	\$24,000.00	\$24,000.00		\$0.00
J2	2" Dia. C900 PVC Waterline	LF	750	\$20.00	\$15,000.00	\$26.62	\$19,965.00	\$22.00	\$16,500.00		\$0.00
J3	4" Dia. C900 PVC Waterline	LF	20	\$97.00	\$1,940.00	\$119.19	\$2,383.80	\$38.00			\$0.00
J4	6" Dia. C900 PVC Waterline	LF	956	\$65.00	\$62,140.00	\$67.60	\$64,625.60	\$43.00			\$0.00
J5	8" Dia. C900 PVC Waterline	LF	495	\$71.00	\$35,145.00	\$78.01	\$38,614.95	\$44.00	\$21,780.00		\$0.00
	12" Dia. C900 PVC Waterline (Lateral &			7:-:::	700/= 10100	7.0.0	700/02	7	7==7:00:00		70.00
J6	Distribution)	LF	4,043	\$67.00	\$270,881.00	\$96.07	\$388,411.01	\$45.00	\$181,935.00		\$0.00
J7	Trench Safety for Waterlines	LF	5,494	\$2.70	\$14,833.80	\$2.42	\$13,295.48	\$1.00	\$5,494.00		\$0.00
	Existing Waterline Demolition and		-, -		, ,	,	1 -,	,	12, 2		,
J8	Removal	LF	2,000	\$25.00	\$50,000.00	\$55.06	\$110,120.00	\$15.00	\$30,000.00		\$0.00
	2-Inch Connection to 6-Inch Cap with 2-		,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	1 2, 2 2 2	,	, ,		
	Inch Threaded Tap (Including Brass										
J9	Fittings, 90° Ell, Tee, Nipple, Coupling)	EA	2	\$490.00	\$980.00	\$1,288.65	\$2,577.30	\$575.00	\$1,150.00		\$0.00
J10	12-Inch x 8-Inch D.I.M.J Reducing Cross	EA	1	\$950.00	\$950.00	\$706.52	\$706.52	\$1,200.00	\$1,200.00		\$0.00
J11	6-Inch x 6-Inch D.I.M.J Tee	EA	5	\$490.00	\$2,450.00	\$355.74	\$1,778.70	\$500.00	\$2,500.00		\$0.00
J12	8-Inch x 8-Inch D.I.M.J Tee	EA	2	\$600.00	\$1,200.00	\$451.20	\$902.40	\$264.00	\$528.00		\$0.00
J13	12-Inch x 12-Inch D.I.M.J Tee	EA	2	\$930.00	\$1,860.00	\$788.92	\$1,577.84	\$520.00	\$1,040.00		\$0.00
J14	8-Inch x 6-Inch D.I.M.J Reducing Tee	EA	6	\$550.00	\$3,300.00	\$540.87	\$3,245.22	\$210.00	\$1,260.00		\$0.00
J15	12-Inch x 6-Inch D.I.M.J Reducing Tee	EA	23	\$530.00	\$12,190.00	\$613.47	\$14,109.81	\$440.00	\$10,120.00		\$0.00
J16	12-Inch x 8-Inch D.I.M.J. Reducing Tee	EA	11	\$670.00	\$7,370.00	\$661.87	\$7,280.57	\$480.00	\$5,280.00		\$0.00
J17	6-Inch x 4-Inch Reducer	EA	8	\$250.00	\$2,000.00	\$244.42	\$1,955.36	\$75.00	\$600.00		\$0.00
J18	8-Inch x 6-Inch Reducer	EA	8	\$400.00	\$3,200.00	\$405.35	\$3,242.80	\$450.00	\$3,600.00		\$0.00
J19	6-Inch D.I.M.J. Gate Valve	EA	11	\$880.00		\$1,081.74	\$11,899.14	\$1,575.00	\$17,325.00		\$0.00
J20	8-Inch D.I.M.J. Gate Valve	EA	11	\$1,300.00	\$14,300.00	\$1,396.34	\$15,359.74	\$1,920.00	\$21,120.00		\$0.00
J21	12-Inch D.I.M.J. Gate Valve	EA	12	\$2,300.00	\$27,600.00	\$2,405.48	\$28,865.76	\$2,500.00	\$30,000.00		\$0.00
J22	6-Inch D.I.M.J. 11.25 Deg Bend	EA	2	\$430.00	\$860.00	\$262.57	\$525.14	\$125.00	\$250.00		\$0.00
J23	8-Inch D.I.M.J. 11.25 Deg Bend	EA	4	\$370.00	\$1,480.00	\$321.86	\$1,287.44	\$135.00	\$540.00		\$0.00
J24	6-Inch D.I.M.J. 22.5 Deg Bend	EA	3	\$330.00	\$990.00	\$263.78	\$791.34	\$95.00	\$285.00		\$0.00
J25	8-Inch D.I.M.J. 22.5 Deg Bend	EA	1	\$760.00	\$760.00	\$326.70	\$326.70	\$140.00	\$140.00		\$0.00
J26	12-Inch D.I.M.J. 22.5 Deg Bend	EA	4	\$540.00	\$2,160.00	\$519.09	\$2,076.36	\$512.00	\$2,048.00		\$0.00
J27	4-Inch D.I.M.J. 45 Deg Bend	EA	16	\$140.00	\$2,240.00	\$242.00	\$3,872.00	\$60.00	\$960.00		\$0.00

S. S	TAPLES STREET - BALDWIN BLVD. TO KOSTO	D.	BA	/ LTD	CLARK PIPE	LINE SERVICES	* BURNSIDE S	SERVICES INC	REYTEC CONSTR RESOURCES		
	PROJ. NO. 18041A		401 CORN F	RODUCTS RD	6229 LEOPARD ST		1110 NAVASOTA RIDGE RD		1901 HOLLISTER		
	RFB #3213			CC, T)	(78409	CC, T	X 78409	NAVASOTA	, TX 77868	HOUSTO	ON, TX 77080
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT	UNIT PR	AMOUNT
J28	6-Inch D.I.M.J. 45 Deg Bend	EA	36	\$170.00	\$6,120.00	\$269.83	\$9,713.88	\$148.00	\$5,328.00		\$0.00
J29	8-Inch D.I.M.J. 45 Deg Bend	EA	28	\$240.00	\$6,720.00	\$329.12	\$9,215.36	\$390.00	\$10,920.00		\$0.00
J30	12-Inch D.I.M.J. 45 Deg Bend	EA	14	\$490.00	\$6,860.00	\$539.66	\$7,555.24	\$520.00	\$7,280.00		\$0.00
J31	6-Inch D.I.M.J 90 Deg Bend	EA	3	\$340.00	\$1,020.00	\$283.14	\$849.42	\$95.00	\$285.00		\$0.00
J32	8-Inch D.I.M.J 90 Deg Bend	EA	1	\$780.00	\$780.00	\$338.80	\$338.80	\$180.00	\$180.00		\$0.00
	4-Inch D.I.M.J. Long Patern Sleeve (1-Foot										
II I	Min.)	EA	8	\$180.00	\$1,440.00	\$363.00	\$2,904.00	\$66.00	\$528.00		\$0.00
	6-Inch D.I.M.J. Long Patern Sleeve (1-Foot										
	Min.)	EA	5	\$260.00	\$1,300.00	\$396.88	\$1,984.40	\$110.00	\$550.00		\$0.00
	8-Inch D.I.M.J. Long Patern Sleeve (1-Foot										
	Min.)	EA	3	\$410.00	\$1,230.00	\$469.48	\$1,408.44	\$188.00	\$564.00		\$0.00
	12-Inch D.I.M.J. Long Patern Sleeve (1-										
	Foot Min.)	EA	2	\$680.00	\$1,360.00	\$638.88	\$1,277.76	\$190.00	\$380.00		\$0.00
	4-Inch. D.I. Spool Piece (2-Foot Typ.)	EA	21	\$110.00	\$2,310.00	\$314.60	\$6,606.60	\$46.00	\$966.00		\$0.00
	6-Inch. D.I. Spool Piece (2-Foot Typ.)	EA	47	\$57.00	\$2,679.00	\$326.70	\$15,354.90	\$58.00	\$2,726.00		\$0.00
	8-Inch. D.I. Spool Piece (2-Foot Typ.)	EA	30	\$330.00	\$9,900.00	\$338.80	\$10,164.00	\$70.00	\$2,100.00		\$0.00
	12-Inch. D.I. Spool Piece (2-Foot Typ.)	EA	1	\$1,100.00	\$1,100.00	\$1,028.50	\$1,028.50	\$710.00	\$710.00		\$0.00
	6-Inch Cap with 2-Inch Threaded Tap	EA	2	\$370.00	\$740.00	\$1,240.25	\$2,480.50	\$420.00	\$840.00		\$0.00
	12-Inch Cap	EA	1	\$370.00	\$370.00	\$822.80	\$822.80	\$502.00	\$502.00		\$0.00
	6-Inch Plug	EA	5	\$350.00	\$1,750.00	\$272.25	\$1,361.25	\$285.00	\$1,425.00		\$0.00
	Fire Hydrant Assembly (Type										
	1)(Long)(Includes F.H., Vavle and D.I.										
	Lead)	EA	8	\$5,300.00	\$42,400.00	\$4,224.72	\$33,797.76	\$5,100.00	\$40,800.00		\$0.00
	Fire Hydrant Assembly (Type										
	1)(Short)(Includes F.H., Valve and D.I.			4	4	40 0		4	4		4
	Lead)	EA	16	\$4,200.00	\$67,200.00	\$3,940.97	\$63,055.52	\$4,675.00	\$74,800.00		\$0.00
	Fire Hydrant Assembly Removal and			4.00.00	4	4	4	4	4		4
	Salvage	EA	9	\$430.00	\$3,870.00	\$665.50	\$5,989.50	\$675.00	\$6,075.00		\$0.00
J47	Transmission Main Lateral Valve Plug	EA	14	\$1,300.00	\$18,200.00	\$2,879.80	\$40,317.20	\$4,050.00	\$56,700.00		\$0.00
	Water Service Reconnections (Includes new 1" max dia. service line and										
140	connection)	EA	_	¢1 300 00	¢c	¢1 201 F0	¢6.0E7.E0	\$2,000,00	¢14.000.00		¢0.00
J48 J49	Existing Water Valve Box Adjustments	EA	5 5	\$1,300.00 \$510.00	\$6,500.00 \$2,550.00	\$1,391.50 \$479.16	\$6,957.50 \$2,395.80	\$2,800.00 \$500.00	\$14,000.00 \$2,500.00		\$0.00 \$0.00
149	Unanticipated Grout Fill and Abandon In	EA	3	\$210.00	۶ ۷, 550.00	\$4/9.16	۶۷,۵۶۵.8U	\$500.00	\$2,500.00		\$0.00
J50	Place Existing Waterline	LF	100	\$74.00	\$7,400.00	\$32.67	\$3,267.00	\$68.00	\$6,800.00		\$0.00
130	Unanticipated Transmission Main Lateral	LF	100	\$74.00	\$7,400.00	\$32.07	\$5,207.00	\$08.00	\$0,000.00		\$0.00
J51	Valve Replacement	EA	5	\$7,500.00	\$37,500.00	\$3,979.69	\$19,898.45	\$4,300.00	\$21,500.00		\$0.00
131	Allowance for Unanticipated Water	LA	3	77,500.00	,37,500.00	93,575,09	45.050,615	₹4,500.00	\$21,500.00		ŞU.UC
J52	Improvements	AL	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00		\$0.00
***	BTOTAL PART J - WATER IMPROVEMENTS		1	750,000.00	\$812,608.80	930,000.00	\$1,069,965.56	\$30,000.00	\$709,982.00		NO BID
30	DIOTALIANI AMALEN MAIL MOAFMENTS				7012,000.00		ٱ,000,000.30		Ţ1 03,302.00		110 010
	TOTAL BASE BID - (PARTS A THRU J)				\$12,897,640.95		\$17,489,054.17		\$12,458,088.58		NO BID
	10 TAL DADE DID - (FAILTS A THICO I)	1			712,007,070.33		71,703,034.17		712,730,000.30		140 010

Bid deemed Non-Responsive - Bidders Statement of Experience failed to demonstrate bidder has the 5 year minimum experience required to perform the scope of work.